BEING BORING

curated by Robert Lake

Phillip Jacobs (1958-2018)
Philip Juster (1952-2004)
David McDiarmid (1952-1995)
Bill Morley (1949-2007)
Jasper Havoc (1952-1979)

More Dead Gay Artists

4 February - 11 March 2023



Jasper Havoc (Peter McMahon) untitled circa 1976 oil stick on paper 48 x 40 cm (framed)



David McDiarmid untitled circa 1982 mixed media on found blanket 230 x 180 cm



Bill Morley
Diary Page 1977
David McDiarmid, Fran Moore,
Linda Jackson & Francios Perez
text & coloured photography on
paper
29.5 x 21 cm



David McDiarmid untitled circa 1983 synthetic polymer paint on found cotton bedsheet 240 x 195 cm



David McDiarmid untitled 1969 ink pen on paper 56 x 36 cm



David McDiarmid Untitled circa 1976 mixed media on card 27.5 x 33 cm



David McDiarmid

The Fountain of Love - Juice 1976

metallic paint, red fibre-tipped pen,
collage of die-cut colour lenticular
photo-offset lithograph and red
and black ink on graph paper
32 x 27 cm (framed)



David McDiarmid Untitled circa 1976 mixed media on card 27.5 x 33 cm



David McDiarmid

Law and Us 1976

metallic paint, red fibre-tipped pen,
collage of cut photo-offset
lithograph and red and black ink
on graph paper
32 x 27 cm (framed)



David McDiarmid untitled circa 1993 mixed media & ink transfer on found fabric 150 x 133 cm



David McDiarmid Untitled circa 1976 mixed media on card 27.5 x 33 cm



Bill Morley Untitled 2002 mixed media on black paper 29 x 21 cm



David McDiarmid Untitled circa 1976 mixed media on card 27.5 x 33 cm



Bill Morley Untitled 2002 mixed media on black paper 29 x 21 cm



Bill Morley Untitled circa 2003 mixed media in brass frame 21.5 x 31 cm



Bill Morley Untitled 2002 mixed media on black paper 29 x 21 cm



Bill Morley, Ring Master and Glenby circa 1989 black & white photograph



Bill Morley Untitled 2002 mixed media on black paper 29 x 21 cm



Bill Morley Untitled 2002 mixed media 182 x 60 x 90 cm approx.



Bill Morley Hubbubcap #1 1994 acrylic on found hubcap 38.5 cm diameter



Bill Morley Untitled circa 2000 mixed media on cardboard, 8 pieces 13.5 x 13.5 cm each



Bill Morley circa 1985 black & white photograph by William Yang



Bill Morley Untitled 2002 mixed media on black paper 21 x 29 cm



Philip Juster, Cate Shortland & Maude Page colour photograph



Bill Morley Untitled 2002 mixed media on black paper 21 x 29 cm



Philip Juster Untitled 2003 mixed media on canvas 45 x 45 cm



Philip Juster Untitled 2003 mixed media on canvas 45 x 50 cm



Philip Juster

Rousseau Royale 2000

enamel on glass, found frame
28 x 37 cm



Philip Juster Untitled 2003 mixed media on canvas 45 x 50 cm



Philip Juster

Rousseau Royale 2000

enamel on glass, found frame
26 x 31 cm



Philip Juster Untitled 1994 enamel and mixed media on canvas 76 x 76 cm



Philip Juster
Rousseau Royale 2000
enamel on glass, found frame
26 x 31 cm



Philip Juster Untitled circa 1994 enamel and mixed media on canvas 68 x 83 cm



Philip Juster circa 1999 colour photograph



Philip Juster Untitled circa 1994 enamel and mixed media on canvas 40.5 x 45.5 cm



Bill Morley and Robert Lake The way of all flash 1987-88 super 8 film



Philip Juster Untitled circa 1995 enamel and mixed media on canvas 56 x 71 cm



Charles Jourdan shoes circa 1983, gifted to Robert Lake by Maggie Burns



Philip Juster

Rousseau Royale 2000

enamel on glass, found frame

44.5 x 39 cm



Phillip Jacobs Postcards to Jeffrey Stewart mixed media on card; 9 pieces



Philip Juster Rousseau Royale 2000 enamel on glass, found frame 26 x 31 cm



Phillip Jacobs Untitled circa 1998 Photocopied collages 42 x 29 cm



Phillip Jacobs Untitled 1990 mixed media on paper 30.5 x 43 cm



Phillip Jacobs Untitled circa 1991 mixed media on paper 50 x 70 cm



Phillip Jacobs & Craig Dooley 'Celeste' at Newtown Hotel, May 1989 colour photograph



Bill Morley
For Jeffrey Hill, heart, Billiam
signed 1986 / 1993
mixed media & collage on paper
71 x 52 cm (framed)



Bill Morley untitled circa 1985 acrylic on black fabric 1.47 x 0.86 m



Bill Morley Class of 88 1985 acrylic on cotton 89 x 123 cm



Bill Morley Feel my Bomb 1979 mixed media collage 69 x 49 cm (framed)



Bill Morley untitled circa 1982 felt & paper collage 50 x 70 cm (framed)



Bill Morley untitled circa 1975 pencil & watercolour on paper 32 x 27 cm (framed)



Bill Morley untitled 1983 mixed media on paper 25 x 30 cm (framed)



Bill Morley untitled 1966 pencil on paper 28 x 36 cm (framed)



Bill Morley
Mandy circa 1977
pencil on paper
27 x 35 cm (framed)



Bill Morley in drag circa 1975 colour photograph



Bill Morley in sailor's cap circa 1975 colour photograph



Philip Juster

Eora circa 1990

enamel & plastic lettering on found painting
25 x 30 cm



Philip Juster Untitled circa 1989 mixed media on canvas 25 x 20 cm



Philip Juster untitled 1984 mixed media on paper 51 x 41.5 cm (framed)



Philip Juster untitled 1984 mixed media on paper 69 x 54 cm (framed)



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from Chinosaur series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 53 x 37.5 cm



Philip Juster untitled (from *Chinosaur* series) 1983 mixed media & collage on painted paper 54.5 x 40 cm (framed)



Philip Juster
Penis Envy circa 1979
plastic lettering on glass and collage
27 x 22 cm (framed)



Philip Juster circa 1986 colour photograph



Phillip Jacobs and Peter Tully circa 1984 colour photograph



Phillip Jacobs Big Flower for you 1984 watercolour on paper 29.5 x 41 cm



Phillip Jacobs Big on Red 1988 watercolour on paper 34 x 44.5 cm (framed)



Phillip Jacobs New Home 1988 watercolour on paper 29.5 x 41 cm



Phillip Jacobs Love 1984 pencil on paper 29.5 x 41 cm



Phillip Jacobs Pea Two 1984 pencil on paper 28 x 38 cm



Phillip Jacobs

Happy Birthday 1984

pencil on paper

56 x 46.5 cm (framed)



Phillip Jacobs Big Flower for you 1984 watercolour on paper 29.5 x 41 cm (framed)



Phillip Jacobs
Big Boy Party 1984
mixed media collage on paper
30.5 x 22.5 cm



Robert Lake, David Martin, Phillip Jacobs and Rodney Thorpe circa 1982 colour photograph



David McDiarmid Untitled (T-shirt design) circa 1978 mixed media on paper 45 x 29.5 cm



David McDiarmid Untitled (T-shirt design) circa 1978 mixed media on paper 45 x 29.5 cm



Bill Morley Untitled circa 1975 photograph and text on paper 29 x 21 cm



David McDiarmid Untitled (T-shirt design) circa 1978 mixed media on paper 45 x 29.5 cm



David McDiarmid Untitled (T-shirt design) circa 1978 mixed media on paper 45 x 29.5 cm



Philip Juster Untitled circa 1985 mixed media on canvas 121.5 x 97 cm



Philip Juster Untitled circa 1984 spray paint on canvas 132 x 100 cm



Philip Juster Untitled circa 1984 spray paint on canvas 132 x 94.5 cm



Phillip Jacobs Untitled 1985 Cotton banner for 1st Mardi Gras Festival commissioned by Tony Crewes and Rodney Thorpe 208 x 81 cm

David McDiarmid images reproduced with permission of Sally Gray and the David McDiarmid Estate.

Most works in this exhibition are not for sale



Scan QR code for website and exhibition catalogue